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1. Let X and Y be independent random variables each having the normal density
N(0,0%) . Find the density of Z;=X+Y and Z,=X *+Y %, (TEHELS 20 43)

2. Suppose the times of successive failures of a machine form a Poisson process on
[0,00) with parameter A.What is the probability of at least one failure during

the time period (7, t+h), h>0 7 (IEfERS 20 43)

3. Based on a random sample of size n, find the maximum likelihood estimator of p
for the geometric density: f(x|p) =p(l-p)*,x=0,12,.. (IEFELS 20 43)

4. The following data give the velocitys agiyer in feet per second corresponding
to various depths expressed ind % cralio (x).of the measured depth to the
depth of the river. Use le e : § to these
points, choosing x— Oﬁ? er tha e inde e it variable. (IEFfEAS 20
53) *:i = 8

X 0 0.1 0.8
¥ 3200 3.23 3.06
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5. Why do we utilize a F- liﬁ{lf l fﬁm analysis of variances
(ANOVA)? What snuahonii ‘a’*h)cqathes:agst cc‘;gﬂf utilize the method of

ANOVA? (IEEE%A 20 ﬁ}) %Qj@wﬁj&"ﬁﬁi
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